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Fais correspondre chaque opération 
avec son résultat colorie la case 
correspondante dans le quadrillage.

A : 839 + 764…
B : 9 450 – 3 452…
C : 583 x 8…
D : 8 789 – 5 629…
E : 5 934 + 4 939…,
F : 736 x 17…
G : 3 946 – 2 338…
H : 2 636 + 3 695…
I : 476 x 28…
J : 784 x 16…
  

1 : … = 6 331                                     6 : … = 1 608
2 : … = 10 873                                   7 : … = 1603
3 : … = 13 328                                   8 : … = 12 544
4 : … = 5998                                     9 : … = 3160
5 : … = 12 512                                  10 : …= 4664
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